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1. A gam.e begins with é‘;eoinﬁf:oss. The referee tosses the coin with an initial vertical velocity of 7.50
m/s.

a. How high does the coin go? .Y/

b. How long is it in the air? VX
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2. A 65.0 kg skater is traveling due east at a speed of 6.50 m/s. A 83 kg skater is moving north at a
speed of 4.25 m/s. They collide and hold on to each other after the collision, managing to move off at
an angle & north of east, with a speed V+.
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3. A railroad car with a mass of 1050 kg starts
from rest at the top of the 1.25 m hill shown

a. What is the speed of the cars after the collision?

b. How much energy is lost in the collision?
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Figure 3

in Figure 3. The car rolls down the hill and crashes into a stationary car of mass 1520 kg. After the
collision the cars are coupled and move together. Assume friction can be ignored.
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4. A 0.85 kg hockey puck is sliding on ice. The coefficent of kinetic friction is 0.250.

a. What is the friction force acting on the puck?

b. What is the acceleration of the puck? Ca
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5. A suitcase is pulled 55 m along a horizontal surface as shown in Figure

5 The person pulls the suitcase with a force of 25 N at an angle of 35°
from the horizontal. Find the work done by the force in pulling the
suitcase the distance of 55 m.

Figure 5
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6. If electricity costs 15 cents per kilowatt hour, how much does it cost to run a 1.5 kilowatt hair dryer for
10 minutes? 2.7% 4
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